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PUBLIC ADMINISTRATION
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  ‘Public Administration is detailed and systematic execution of Law.” This statement was
given by
(1) Herbert A. Simon (2) John A. Veig
(3) Willoughby (4) Woodrow Wilson

2.  Consider the following proactive steps listed by David Rosenblom to make public
administration ‘a stronger and robust field’.

(i)  Public Administration to be inter disciplinary by shunning its orthodoxy.

(ii) Collaborative research

(iii) To maintain methodological and epistemological pluralism in public administration.
(iv) Understanding the non-western administration.

Select the correct answer by using code given below :

Codes :

(1) (i) and (ii)

(2) (1), (i) and (iii)

(3) (ii), (iil) and (iv)

4) (i), (i), (iii) and (iv)

3.  Which of the fdllowings are the features of administrators of New Public Administration ?
(a) Positive b (b) Proactive
(c) Responsive (d) Authoritarian
Select the correct answer from the codes given below :
Codes :
(1) (a), (b) and (c)
(2)  (b), (¢) and (d)
(3) (), (b) and (d)
(4) (a),(c)and (d)
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1. T TR, S 1 [a%gd Ud Haied fhamaee & 17 7 we ohash € 2
(1) T T grEad (2) T fer
(3) ot (4) T oo

2. T WRIEA F CIUF FGA SR T & g &g A I I 5N garas Etanad
AT U W fear i
(i) I TR I THeh! LTI T o Y 30 ST 9MEA T FAMT |
(i) TS Iy
(iii) M WA § YOTATG T T2 FFHHTcHS Sgetag i s+ & |
(iv) TR-UTY=H TRTE T qHSAT
T 58 T T W HEl I H T DI
T
(1) (@) R (i)
) (@), (i) 3R i)
(3) (i), (iii) 3 (iv)
@ (@), (i), (iii) 3R (iv)

3. frefefaa & 9 ®F 9 79 @it TeEE % TR i fareiadn & 2
(a) HhIcHh
(b)  3mrcTedt
(c) STFaTE
(d) TEwE
et 5T T 2l Y WerH W T ST B AT HIAC ;
T
(1) (a), (b) T (¢)
(2)  (b), (c) T (d)
(3)  (a), (b) T (d)
4 (a), (c) T (d)
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4. Minnow Brook conferences were held in which of the following university ?
(1) Harward University (2) Syracuse University

(3) California University (4) Yale University

5. Which one of the following is relevant to the study of complex public organizations that

have diversified structure ?
(1) Systems Approach (2) Institutional Approach
(3) Structural Approach (4) Ecological Approach

6.  Assertion (A) : The administrative theory is still in its pre-paradigmatic stage.

Reason (R) : It is marked by a plethora of competing school, a polyglot of languages

and accordingly, a confusion of logic.
Codes :
(I) Both (A) and (R) are correct and (R) is thepcorrect‘éxplanation of (A).
(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

7.  Which one of the following is consicfered by Max Weber as the most powerful weapon for

restraining bureaucracy ?
(1) Collegiality (2) Separation of Powers

(3) Direct Democracy (4) Representation

8. ‘Morale is a feeling, somewhat related to esprit de corps, enthusiasm or zeal’. This

statement is made by

-

(1) Filippo (2) Yoder
(3) Jucius (4) McFarland

9.  Whose theory on span of control can be mathematically expressed as n(2"/2 + n — 1),

where n stands for the number of subordinates reporting directly to the supervisor ?

(1) Sir Ian Hamilton (2) V.A. Graicunus
(3) Lyndall Urwich (4) 1.D. Mooney
Paper-11 4 J-14-16
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(1) TR (2) e
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9. T &I H n(2Y2 + n— 1) % TT H MO AR HTH 5T 1 T8 90 n 1 T
T Bt 3T TE& W ¢ S udaetsh i Grer Ufdes & € 2

(1) WM eHeteA (2) LT UpAT
3) fereet e 4) ST
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10. Which one of the following is not a characteristic of the Scanlon plan ?
(1) It is a philosophy of management based on theoretical assumption consistent with
theory Y.
(2) It has a feature of loss reduction.
(3) It supports effective participation.
(4) It helps to understand manager’s behaviour.

11. Which one of the following needs is placed at the top of Hierarchical needs in the
Maslow’ revised eight stage model during 1970s ?

(1) Self-Actualization needs (2) Transcendence needs
(3) Aesthetic needs (4) Cognitive needs

12. Match List — I with List — II. Select the correct answer from the codes givén below :

List -1 List - IT
(Theory) (Explanation)
a. Trait theory of Leadership i The traits and skills of, Jeadership
;/f;ries with situations
b. The situational theory of ii. eadershipl- is concerned with
leadership / motiyation/of subordinates
c. Contingency theory of iii. { Leadership qualities can be acquired
leadership j

d. Path-Goal leadership theory iv. Leaderé'{ip is concerned with styles
and situation - *

Codes : )
a b C d

(1 i ii i iv

) ii i iv il

3) iii i iv il

@ @i i v i

13. Prime Minister’s Office (P.M.O.) is headed by
(1) Prime Minister of India
(2) Cabinet Secretary
(3) Principal Secretary to the Prime Minister
(4) National Security Advisor

14. Which of the following statement regarding The Estimates Committee of Parliament is not
correct ?

(f) The term of the Estimates Committee is one year.

(2) Allits members are from the Lok Sabha.

(3) The ministers can be the members of the Estimates Committee.

(4) The chairperson of the Committee is appointed by the speaker from its members.
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(1) TE-IETHIOT STETFHAL (2) STIHiae STETIHT
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et — 1 1 gt — 11 % T AT I | =19 5T % o Feradn ¥ Tt STR 61 997 HifT ;
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SEeAE || .'
b.  ¥gcd 1 R ST i g e ) ghmRon @ S
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c. g T BT MgET dil. Hged O L= Ehetl € |
d. ¥ 1 AT fag ivtﬁﬁ‘ﬁ?ﬁ@mﬁwﬁﬁ%l
BT
a b c d
I 1 i i v

@ i i v i
3) i i v i
@) i i v i

T Hl e (U1, 31) T 3TegeT i il & 2
(1) R 1 W= T (2) WEHed W (HieHT Wshadl)
(3) WH ST Ty |ied (4) T G TeTeHR

frfefaa & @ o |1 FU TGS I Wb THfd & Ga9 § Gel 71 € 2
(1) Tohe QHTd T HAHTA Tk a9 I 8l € |

(2) THH T G Al AT Y B § |

(3) T TR QAT & e 8 Tehd € |

(4) =T afufa & qumaid St i oTeaeT gRT 30 T8E | 9 & Sl § |
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15. The Comptroller and Auditor General of India can be removed by

(1) President of India (2) Prime Minister
(3) Supreme Court of India (4) Parliament

16. Which of the following commission/committee suggested the constitution of the office of
Ethics Commissioner by each House of Parliament ?

(1) Santhanam Committee

(2) Ethics Committee of the Rajya Sabha

(3) First Administrative Reforms Commission
(4) Second Administrative Reforms Commission

17.  Under which one of the following articles of Indian Constitution the Governor of a State
enjoys certain immunities ?
(1) Article 301 (2) Article 321
(3) Article 341 (4) Article 361

18. Assertion (A) : Ina federal system, Centre—Stat’e relations is a matter of crucial importance.
Reason (R) : Indian constitution provides only skeleton provisions on this matter.
Codes :

(1) Both (A) and (R) are correct and (R) is the corr;ctnexplanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

19. The digital era has ushered in a new kind of journalism in which citizens play a greater
role in news making for development of society. This is known as ?

(I)  Yellow Journalism (2) Advocacy Journalism
(3) Citizen Journalism (4) Investigation Journalism

20. Which of the following are the advantages of computer-based training over class based
training ?
(i)  Addresses group rather than individual.
(i) Learning can be at any place and time.
(i) Learning / training can take place on the job as the time is available.
(iv) Changes to course materials can be made available immediately.
Select the correct answer from the codes given below :

Codes :
(1) (i), (i) and (iii) (2) (i), (i), (iii) and (iv)
(3) (i), (1) and (iv) (4) (1) and (iv)
Paper-11 8 J-14-16
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19.

20.

WA o 357 Tel HeToi@l TRieTeh ol Ffetigd | ¥ fohdeh gRT 82/ ST Gehdl & 2
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(1) 3F=% 301 (2) 3FT=T 321
(3) 3T 341 (4) 3T 361

AHTT (A) : THT HA § -1 % o oy Tgd Hewaqol [aua € |
% (R) : YRAIT Wi ¥ 28 [9ug W sheet stk weHH €8 ™ E |
&<

(1) (AT (R)IHT Fel & T (R), (A) bl Tal AR E |

(2) (A) @ (R) SHT &l &, W (R), (A) i Fel =R Tai ¢ |

(3) (A) T W (R) T | )

(4) (A) T &, R (R) T |

fefstect T 3 U=ehiar & Ueh UF T T T IR {ohar & a9 Amies gawt & g & ferw
THMER S | T it 9 &, 78 a7 St

(1) id 9=ehiar (2) USaTHH! THIRAT

(3) TN eI (4) AT T

Tt § ¥ i & I SR WTRI0T Hf o H HEge SN URTRT0T o &N & 2
() I€ 99 W & a1 & 7 foh =it ¥ |

(i) Tordt ot w1 3R 99 o Hiwr ST Ehar e |

(iii) T B TRA/ITSTEToT BT 1, I B U SUCTe TRl ot TH & gehell & |

(iv) UIHHT Tl | UREcH denlet [t ST T § |

T fST 2l § F & 3T FH 997 T

&<

(D) (@), (i) 3 (iii) 2) (@), (i), (iii) 3 (iv)

(3) (i), (iii) 3 (iv) 4) (i) 3R (iv)

J-14-16 9 Paper-11

www.examrace.com



21. Which of the following institution and mechanism outside the state is considered highly

effective for promoting accountability by the second administrative reforms commission ?
(1) Citizen’s Charter (2) Civil society
(3) Media (4) Elections

22. Assertion (A) : NITI Aayog is meant to faster co-operative federalism.

Reason (R) : The NITI Aayog would lay special emphasis on the weaker sections of
the society.

Select the correct answer using codes given below :

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

23. ‘The state shall endeavour to protect and improve the environment and wildlife of the
country.” This is reflected in which of the following ?

(1) Resolutions of UN Habitat
(2) Article 48-A of the Indian Constitution
(3) Directions of the Green Tribunal

(4) Resolution of the Indian Parliament

24. Match List — I with List — IT and select the correct answer by using codes given below :

List -1 List - 11
(Police Agency) (Ministry/Government)
a. Civil Pglice 1. Ministry of Home Affairs
" b Railway ‘z:otétrction Forces ii. Ministry of Defence
C. Assam Rifles iii. Ministry of Railways
d. = Defence Security Forces iv. State Government
Codes :

a b ' C d
1 i ii i v
) i i iv i

G) iv i i i
@) iv il i ii
Paper-I1 10 J-14-16
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(1) FuA. e & Tehod |
(2) R G & T 48-F |
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(gferer weied) (AT /AXHR)

T gfes i T T

et - TR e B b

IFEH AEHGE | il o W
fTha gl I iv. T°F TR

Yoo oo

) i i v i
(3) iv i i i
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25. Which one of the following is not a characteristic of scientific method ?

(D
2)
3)
4

Reliance on empirical evidences
Intra subjectivity
Generality

Predictions based on probability

26. Conducting literature review in a research study does not refer to

)
2
3)
“4)

Analysis of previous research on the topic.
Reading and analyzing published material.
Gathering previous published ideas.

Testing hypotheses of the proposed research study.

27. Which of the followings are the features of scientific research ?

(a) Objectivity

(b) Verifiability

(c) Value-ladden

(d) Systematic

Select the correct answer using the codes given below :
Codes : )

(1) (a), (b) and (c) (2) (a), (b) and (d)
(3) (b), (c) and (d) (4) (a), (c) and (d)

28. Closed ended questions entail

)
2)
3)
4

Fixed range of answers
Detailed and elaborate responses
Demographic characteristics of respondents related questions

Personal information questions

29. Which one of following is not correct about Endnotes and Footnotes while writing a

research paper ?

(1
2)
3)
“4)

Paper-11

Endnotes are placed at the end of the paper before bibliography

These are the tools to include additional information

Personal observations/comments cannot be expressed in endnotes and footnotes.

Endnote and Footnotes are used to tell the source of idea to the reader

12
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(a) T (b) T
(c) Hed i (d) wEEEd
frfafea Fei st Tem=dr ¥ Tt 3T H 997 HIfT

ET

(1) (a), (b) &R (c) 2)  (a), (b) &R (d)
3)  (b), (c) &R (d) @) (a), (c) 3R (d)

I TOTEAT (FeAlSS USE) o We o 2 &, e =feT

(1) FERa sof % 3w

(2) forga wd aitepd ST

(3) STREIAT i SHifcheh! a9ioarsti ¥ Fetad SehRT
(4) AT SAFHERT HO oot T

Sy forad g9 ity fewor (wog Aie) qor Uit fouor (Fedie) & an | f=fafed § @ o= @t
T T2

(1)  3ifee feoqur tier et o qaf oot & 37 | fear STrar ¢ |

(2) 3 AfAReR STFeRT IMHeT 7T ST & A € |

(3)  3ifaw fewor qan urg feoror 9 Jafade STt/ et sl SATee et AT ST Hebel |
(4) 3ifam fewor qer 9Tg f2ooT 61 SUAT UIee @i [aaR 1 Eid SdH & o e ST € |
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30. Who among following emphasizes the importance of learning from different experiences
to evolve a meaningful methodology to understand the contextual particularities of

comparative public administration is varied socio-economic and political circumstances ?
(1) Fred Riggs

(2) Farrel Heady

(3) Comparative Administrative Group

(4) Third Minnowbrook Conference

31. Which one of the following is not included in 4Ps through which Donald Stoneﬂanalysed
Development administration ?

(I) Plan (2) Policies

(3) Projects (4) Performance

-

32.  Which of the following is correct regarding U.L. Goswami ?
(a) He used the term development administratjig)n for tfle first time in 1955.
(b) He used this term in the article ‘The S-rtructure of Development Administration in
India’.
(c) This article was published in Public Administration Review (PAR), U.S.A.
(d) He was a civil servant.
Select the correct answer by using the codes given below :
(1) (a), (b) and () (2) (a), (b) and (d)
(3) (a)and (b) (4)  (¢)and (d)

33. Which system of efficiency rating for the purpose of promotion is followed in U.S.A. ?
(a) Production Records .System
(b) Trait Rating System
(¢) Ordinary Laffan System
(d) Personality Inventory System
Select the correct answer by using the codes given below :
Codes :
(1) (@), (b), (¢) and (d)
(2)  (b), (¢) and (d)
(3) (a),(c)and (d)
(4)  (c)and (d)
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frfafaa 9 & &9 @1 37 4Ps | IniHe @l ¢ e Areq 9 SFes R A fae weme &
fergeioT fopam & 2

(1) =FT (=) (2) et (e
(3) URASH (isterzH) (4) o (RERE)

A, Mt % ey | fferiad o & o1 &t € 2

(a) S FougH oo TR Ug 61 JANT 1955 H fohar o |

(b) TR T I B YA U g ‘IR H bt Uema st G | fopar o |
(c) I O Ut UMy R (.U.31R,) J.UE.T. | Uehiierd gaT o |

(d) o THAHITH I |

T 3T T Pt T TN FHRA U Fel SR BT T4 Y

(1) (a), (b) &R (c) 2) (a), (b) &R (d)

(3) (a) 3R (b) 4) () 3R (d)

SR § TR & FoIT SeaT FeeT 5 S 9 Tgha S S § 0
(a) SR TRET USa

(b) 7T feiRoT wegfer

(c) HHFT AFRA TSI

(d) Al AT Ugia

91 oz i eTaT ¥ W ST F =TI
ETE

(1) (a), (b), (c) 3R (d)

2)  (b), (c) &R (d)

3) (a). (c) IR (d)

@) () 3R (d)
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34. In most of the states of United States of America, the lowest local government authority is

known as
(1) Boroughs (2) Counties
(3) Parishes (4) Township

35. Which of the following statements is not correct regarding the Ministry of Tribal Affairs,
Government of India ?

(1) It came into existence in 1999.

(2) It was carved out from the Ministry of Social Justice and Empowerment.
(3) It was carved out from the Ministry of Social Welfare.

(4) Tribal development and welfare is its main objective.

36. Match List — I with List — II. Select the correct from the codes given below :

List -1 List - 1II .
(Institutions) (Year of p
Establishment) |
a.  Ministry of Women and Child i;fr 1956 |
Development / |
b. National Commission for Women  [ii. 92
National Commission for iii. Zi(ﬁ)ﬂ
Protection of Child Rights J 4
d. Central Social Welfare Board,h iv. 2097' ’
Codes :
a b C d
1 i i i iv

() i i iv i
(3) iv i i i
4) i i i v

37. In which part/s the concept of social justice is included in the constitution of India ?
(i) Preamble
(i) Fundamental Rights
(i) Directive Principles of State Policy
(iv) Special Provision relating to certain classes
Select the correct answer by using the codes given below :
Codes :
(1) (1), (i1) and (iii)
(2) (i), (iii) and (iv)
(3) (i) and (iii)
4) (i), (1), (iii) and (iv)
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34, IR T5T ST % AR TS H T MG 6l T SIS gohrg fohg T8 I ST STl & 2
(1) @t 2) e
(3) i@ (4) AR

35. 9Rd WHR & A A T & ) § Hefetad 5 § i 9 §1d 9el el & 2
(1) 31999 | T | 37 |
(2) T WIS 19 TS TeHIRAr Herd ¥ (Tl o Ush STl Haerd s 4T |
(3) IO GEST FHeAUT HATT § eh1er ST 3161 T 14T 7T |
(4) THH G IEYT ST BT T o HedoT § |

36. At — 1 @ G — 11 %1 QAT Y | A9 9T 70 e § el TR 1 99T B

T -1 = - 11 _ '
(FTd) (FTET ) e’

a.  TieeT ud At o HaEer i 19560 1 'i

b. T HiEAT A ii. l?é‘; fl-

c. U It SYHR TEIT WA iii. 2006 | |

d. 5 GO HeaT A iv. [2007 | If

&

a b c d
(M i i i v
2) i i iv i

(3) iv i i i
@ i iioi v

37. ORI Sfaum & f6a/feT g § s = st STEuRoT i § 2
() vRETe
(i) ¥oT AHHR
(il) T=F & Hifq a9 g
(iv) TS T & Fag | 9 were=
e 53 T P B T ¥ Tl ST HT I BT
T
(D) (@), (i) 3R (i)
(2) (i), (iii) 31 (iv)
(3) (i) 3 (iii)
@) (@), (i), (iii) 3R (iv)
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38. The Central Public Sector Enterprises are classified into strategic and non-strategic

enterprises. Which of the following is not classified as strategic Public Sector Enterprise ?
(1) Arms and Ammunition (2) Iron and Steel

(3) Atomic energy (4) Railway transport

39. Which of the following is not a goal of Decentralization ?
(1) Ensuring participation in Decision making.
(2) Addressing diversity in ecosystem and social groups.
(3) Attempting conflict resolution between State and Central Government.

(4) Aiming at decreasing role of sub-ordinates.

40. Which one of the following statements about the objectives behind setting up of State
Finance Commission is not correct ?

(1) It is intended to bring greater transparency to fiscal transfers from state to local

government.
(2) It will bring greater rule-based criteria of transfer of funds.

(3) It would bring greater clarify to the functional responsibilities of the local

governments.

(4) It will usher in more responsive and accountable system of local governance.

et n

LA |

41. Which of the following is not a ground for the courts to intervene in the administrative

cases ?

(1) Lack of Jurisdiction
(2) Error of Law

(3) Error of Authority

(4) Matters notified under the IX schedule of the constitution

42. The recommendation to set up statewide municipal cadre under integrated personnel
system was first made by which of the following committee/commission ?

(1) Committee on service conditions of Municipal Employees
(2) Central government’s High Powered Expert Committee on urbanization
(3) Second Administrative Reforms Commission

(4) 12" plan Steering Committee on urbanization
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38.

39.

40.

41.

42,

HT TSI & SUSHHT Sl YOI 3R TR SUHHT o &9 H afighd o T & | fe
H I B T I TSI &5 SUhH % &9 H alighd el 5T T ¢ 9

(1) T3 3R el aeg (2) AT SR 3
(3) TREW St (4) Yo ufeR
frefefed & @ = fashmsieror & e T ¢ 2

(1) o T & arieRt s gfateedar

(2) TSR THel i URAAfahT FTet i fafaemaret o1 g
(3) HEE T T GIHRI o TeF T g g s =T

(4) 3T Y T AT P TR

Tt 5 ¥ &9 91 o 59 o et ied 69 STH % 3359l & aR | Tl 6 € 2
(1) 3HHT AT T ¥ AT MG T TR STaR0n | AT RS A g |
(2) =Ed it & eraror 4 fofyr et Aree erfvs @ atfer o AT |

(3) TEE MG T & HEcHe [STHgEr § 2fies e s |

(4) TEY T O S 3T ST 3T ST JoTedt s |

TR HIHEAT § ~ITerdr o §RT §&elT 6T ST o 7w Fifehd § & i |1 STER 78 € 2
(1) &R &t Har

(2) FTH R A

(3) T A WEHR i e

(4) S =l T&t S % o€ Afugiad ame

frfefea 9 9 fog affa/emam gr1 gdved gufed wibs Uomelt & 3fmd o9 At
TRTeteRT HerT Tite fmd ST bt Fawieer &t 7g o

(1) TRUMCAHT FHHLATET I Tl IT Geell Tt

(2) TR et Sy §IhR i e AR Wi foeost |fafa
(3) faclt= wemafe guR S

(4)  ITEHIOT Gaell 12 FIoTHT ST AT
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43.  Which one of the following is not a subject of 12" schedule of the Constitution ?

(1)  Women and Child Development
(2) Roads and Bridges
(3) Planning for economics and social development

(4) Public amenities including street lighting parking lots etc.

44. Which one of the following variable is dropped by 14™ Finance Commission in effecting
horizontal devolution of funds to the States ?

(1) Population (2) Fiscal Discipline
(3) Area (4) Forest Cover

45. Match List — I with List — II. Select the correct answer from the codes givén below :

List - I List — 11 )
(Concepts of Hierarchy) (Thinkers) . - F
a. Scaler process 1. Earl Lantham 4 { (
b. Scaler chain ii. L.D. White >
c. Hierarchy iii. Henry Fayo, I
d. Ladder system iv. James D. Mooney |
Codes :
a b c d
(1) i iv ii i
2) iv il ii i
3) i iv i ii

4 ii i i v )
46. Match List — I with List — II. Select the correct answer from the codes given below :
List - I List - I1
(Types of Budget) (Feature)
a. Zero Based Budgeting i.  All new proposals and the continuing ones are
] reviewed and scrutinised.
Perfornance Budgeting ii. It is management oriented.

F 2 ProgramBudgeting iii. It is planning oriented, its main goal being to
' | rationalise policy making.
d. Sunset Legislation iv. It embodies the concept of self-retiring government
programmes.
Codes : .
a b c d
(1) iv ii i il
(2) i i i v
3) ii i i v
4 i i i v
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43.

44.

45.

frefefaa & @ 2 a1 Gfawm & 126 g &1 faug 72 & 2

(1) Wieen d aret g

(2) ek T I

(3) 3T TS WA [T I A

(4) ol glaemd = el § Te, wieT et 3 Fisterd € |

Tl St Tl o IO 3TR0T Sl AN A | 1430 fore 11T gR1 fefeiiad § 9 69 =) 6t

&1 T T T 0

(1) =g 2) EEALIE) EIGMINE

3) & (4) o 8=

T — [ T g — Il%wgﬁ%ﬁaﬁﬁqlﬁﬁq@aﬁmﬁaﬁwwwﬁw:
i | Tl - 10

wﬁmaﬁamrmrrr) (ﬁﬁlﬂ'@ﬁ) '*. :

a.  ShiHeh UishaT i o ol g L (

b. o el i wdwERe A 0

c. UREEH jii. FR S S

d. e smEeEn v, Smd o/ \

&

a b C d
(1) 11 iv i1 1
2) iv 1ii ii i

(3) i v i il
& i i i v
46. T — 11 G — 1 & QI GATAd Y | e U F Hl Ferdal F Gel SR BT 947 Y
T - 1 Tl - 10
(T &% THR) (fergteam)
a. I AMNG G i, G 0 TS T ST A T GARIEToT de Fele
b.  FoRe T ii. VEE ST
e.  HEUHA T iii. & AT GET &, THH &I 29T & AT AT S THGT
d. g o iv. TOH 37U 3T FHT &1 I8 TRHRT HIIHAT bt STTEROT
Gl & |
&
a b c d
() iv i i i
) dii i i v
B3) i i il v
4 i i i v
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47.

Which of the following are the sources of Administrative law in India ?
(i)  Constitution of India

(ii)  Acts and Statutes

(iii) Administrative Directions

(iv) Judicial Decisions

Select the correct answer from the codes given below :

Codes :

(1) (i) and (ii)

(2) (i), (ii) and (iii)

(3) (@), (ii), (iii) and (iv)
(4) (i) and (iv)

48. Department of personnel and training of CeJntral Government is under which of the
following ministries ?
(1) Home Affairs )
(2) Ministry of Personnel, Public Grievances and Pensions
(3) Human Resource Development
(4) Ministry of Law and Justice
49. Which one of following is not characteristic of British Constitution ?
(1) Flexible Consti;tution
(2) Supremacy of Parliament
(3) Unitary Government
(4) Based on separation of powers
50. National Rural Employment Guarantee Act, 2005 was launched on which of the following
date :
(1) 2™ February, 2005 (2) 2™ February, 2006
(3) 2™ October, 2005 (4) 2™ October, 2006
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47.

48.

49.

50.

qRA | IRIEH fafer o efated 7 9 & & € 2
(i) 9Rd & Gag=

(i)  ertufray qer diafy

(iii) wemETe Few

(iv) =aae o

T 13T T e F TeTIar ¥ TEl IR F TG DS
&

(1) (i) @R Gi)

(2) (), (ii) W (iii)

3) (), (i), (iii) 3R (iv)

(4)  (iii) 3R (iv)

feuren= it Taie uue ¢ feifha o 9 fore Tater™ &1 9T € 2

(1) & e

(2) HITHSE A RThEd Ud 99 Herd
(3) TN GO fasra

(4) HFH T = T

= & @ = 9 e fefewr Sfeum &t fomioar 761 € 2
(1) <o daue

(2) TS HI gareaar

(3) ThIcHS IMEA

(4) ISRl % JASRRIOT U SR

T UTHIOT IASTIR TR=21 31w, 2005 Fm § 9 fo fafer = oy femar mmam 2
(1) 2 &R, 2005 (2) 2 &R, 2006
(3) 2 3TFER, 2005 (4) 2 3TFER, 2006
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